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D-5045
M.A. (IVth Semester) Examination, 2020

GEOGRAPHY

(Industrial Geography)

Time Allowed : Three Hours

Maximum Marks : 70

Minimum Pass Marks : 25

KeC[ - De

SECTION - A

veesš : efkeâvneR ome ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve 1 Debkeâ keâe

nw~ 1×10=10

Note : Attempt any ten questions. Each question carries

one mark.

Q. 1. (i) pescme Jee@š ves Jee<he Fbefpeve keâe DeefJe<keâej meved ....... ceW

efkeâÙee Lee~

James Watt invented steam engine in the

year ____.

(ii) Deeiemle uee@Me Skeâ pece&ve ....... Les~

August Losch was a German ____.

(iii) mebÙegòeâ jepÙe Decesefjkeâe keâer ØeLece ueesne-Fmheele GÅeesie keâer

mLeehevee meved ....... ceW ngF& Leer~
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In United States of America (USA) iron &

steel industry was established in ____.

(iv) YeejleerÙe hetbpeer mes ØeLece metleer JeŒe keâejKeevee meved .......

ceW ngF& Leer~

First cotton textile industry in India from

Indian capital was established in ____.

(v) Yeejle keâer veF& DeewÅeesefiekeâ veerefle, 1991 ceW ....... GÅeesie

keâes meeJe&peefvekeâ #es$e kesâ efueÙes Deejef#ele jKee ieÙee~

New industrial policy of India in 1991

included ____.

(vi) efJeMJe keâer Fmheele veiejer keânles nQ :

(De) efhešdmeyeie&

(ye) efMekeâeiees

(me) [sš^eÙeš

(o) efceMeerieve

World's steel city is :

(a) Pittsburgh

(b) Chicago

(c) Detroit

(d) Michigan
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(vii) ‘‘HeäueeFbie Mešue’’ keâe DeefJe<keâej efkeâÙee Lee :

(De) pee@ve kesâ

(ye) SumeJeLe& nbeEšiešve

(me) pescme Jee@š

(o) Deeiemš uee@Me

"Flying shuttle" was invented by :

(a) John Kay

(b) Ellsworth Huntington

(c) James Watt

(d) August Losch

(viii) Yeejle ceW ØeLece ueesne-Fmheele keâejKeevee mLeeefhele ngDee Lee :

(De) kegâušer

(ye) cegcyeF&

(me) Denceoeyeeo

(o) yeÌ[esoje

In India iron & steel industry was established

in :

(a) Kulti

(b) Mumbai

(c) Ahmedabad

(d) Vadodara

(ix) ‘‘DeeFmees[ehesve’’ Meyo keâe ØeÙeesie efkeâÙee Lee :

(De) Fpee[&

(ye) Deeiemš uee@Me

(me) Deuøesâ[ Jesyej

(o) ntJej

The word "Isodapane" was used by :

(a) Isard

(b) August Losch

(c) Alfred Weber

(d) Hoover

(x) Yeejle ceW efJeefvecee&Ce GÅeesie keâe mekeâue Iejsuet Glheeo ceW

Ùeesieoeve nw :

(De) 40%

(ye) 30%

(me) 50%

(o) 60%

Contribution of manufacturing industries in

gross domestic product (GDP) in India is :

(a) 40%

(b) 30%

(c) 50%

(d) 60%
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(xi) GÅeesieeW kesâ ØecegKe DeeOeej nQ :

(De) Kesleer

(ye) heMeg

(me) lekeâveerkeâ

(o) FveceW mes meYeer

Main basis of industry is :

(a) Agriculture

(b) Animal

(c) Technology

(d) All of the above

(xii) jemeeÙeefvekeâ ogIe&šveeÙeW ØeYeeefJele keâjleer nQ :

(De) ceveg<Ùe

(ye) Jevemheefle

(me) mecheefòe

(o) FveceW mes meYeer

Chemical accidents affects :

(a) Human being

(b) Forests

(c) Properties

(d) All of the above
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SECTION - B

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve 2 DebkeâeW keâe

nw~ (25-30 MeyoeW ceW)~ 5×2=10

Note : Attempt any five questions. Each question carries

two marks (25-30 words).

Q. 2. (i) DeewÅeesefiekeâ Yetieesue

Industrial Geography

(ii) #eweflepeerÙe mebueivelee

Horizontal Linkage

(iii) mLeeefvekeâ ueefyOe efJeefOe

Location Quotient Method

(iv) DeewÅeesefiekeâ efJeefOe kesâ ceeheves kesâ DeeOeej~

Basis of industrial measurement

(v) leeheerÙe Øeot<eCe

Thermal pollution

(vi) DeewÅeesefiekeâ efJekeâeme keâe DeeOeejkeâeue~

Foundational era of industrial development

(vii) mebkesâvõCe

Centralization
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SECTION - C

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve 4 DebkeâeW keâe

nw~ 5×4=20

Note : Attempt any five questions. Each question carries

4 marks.
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Q. 3. Gòej 250 MeyoeW ceW efueefKeS~

Write answer in 250 words.

(i) GÅeesieeW kesâ efJekesâvõerkeâjCe keâes ØeYeeefJele keâjves Jeeues keâejkeâ~

Factors affecting of Industrial decentralization.

(ii) YeejleerÙe GÅeesieeW hej YetceC[ueerkeâjCe Øeef›eâÙee keâe ØeYeeJe~

Impact of globalization process on Indian

Industry.

(iii) Yeejle ceW metleer JeŒe GÅeesie~

Cotton textile in India.

(iv) DeewÅeesefiekeâ Deeheoe SJeb ceeveJe mJeemLÙe

Industrial hazard & human health.

(v) GÅeesieeW kesâ mLeeveevlejCe keâe veiejerÙe-Gheevle hej ØeYeeJe~

Shifting of industries and its impact on the

urban fringe.

(vi) Skeâerke=âle DeewÅeesefiekeâ efJekeâeme nsleg DeewÅeesefiekeâ veerefle ceW

heefjJele&ve keâer DeeJeMÙekeâlee~

Changes needed in industrial policies

regarding integrated industrial development.

(vii) Fpee[& keâe efmeæevle

Isard's Theory
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SECTION - D

veesš : efkeâvneR leerve ØeMveeW kesâ Gòej 500 MeyoeW ceW efueefKeS~ ØelÙeskeâ ØeMve

10 DebkeâeW keâe nw~ 3×10=30

(8)
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Note : Attempt any three questions in 500 words. Each

question carries 10 marks.

Q. 4. (i) DeewÅeesefiekeâ Yetieesue keâer Øeke=âefle SJeb efJe<eÙe-#es$e keâer JÙeeKÙee

keâerefpeS~

Describe the nature and scope of the

industrial geography.

(ii) mebÙegòeâ jepÙe Decesefjkeâe kesâ DeewÅeesefiekeâ ØeosMeeW keâe JeCe&ve

keâerefpeS~

Describe the industrial regions of United

States of America (USA).

(iii) Deuøesâ[ Jesyej kesâ DeewÅeesefiekeâ mLeehevee efmeæevle keâer JÙeeKÙee

keâerefpeS~

Illustrate the Alfred Weber's theory of

location of industries.

(iv) ‘‘Jele&ceeve JewefMJekeâ heÙee&JejCe DeJeveÙeve kesâ efueÙes GÅeesie Yeer

GòejoeÙeer nw~’’ efJeMues<eCe keâerefpeS~

"For Global Environmental Degradation

industries are also responsible." Analyse.
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